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1. Describe early 18th century Britain

2. How did villages work before the Agricultural & Industrial Revolution ?



3. Landowners had already started to do what from 16th century however ?


4. What effects did this have on traditional villages ?


5. What was Jethro Tull’s seed drill & why was it important?



6. What was the Rotherham plough & why was it important?



7. What was Lord Townsend’s 4 crop rotation system & why was it important?



8. What were the socio-economic effects of this?

9. Define the following
· Enclosure
· Seed drill
· Rotherham plough
· 4 crop rotation
